GST and how it works

Compiled by WONG WEI-SHEN

(Sales and Service Tax)
Sales tax at 10%
Govt tax revenue: RMI10D

MANUFACTURER
Cost: RM100 +
Tax: 10% (RM10)

= RM110

Hidden tax: RM2
WHOLESALER
Cost: RM110 + RM22
(20% profit margin)
=RM132

Govt tax revenue: None

Hidden tax: RM3.60

RETAILER

Purchase cost:
RM132 + RM39.60
(30% profit margin)

=RMI71L.60

CONSUMER
Final price: RM171.60

=

Govt tax revenue loss: RMS.60
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Taxing the untaxed
The Government says consumers are paying a lot more under the SST

GST at 6%
Govt tax revenue: RM6

=

=

_ Govttaxrevenue:RM120

WHOLESALER

Cost: RM100 + RM20
Govt tax revenue: RM2.16

MANUFACTURER

Cost: RM100
GST: RM6

(20% profit margin)
GST: RM7.20

RETAILER

Purchase Cost:
RM120 + RM36
{30% profit margin)

Cost: RM156 GST: RM9.36

CONSUMER

~ Final price: RM165.36 )

Govt tax revenue loss: None |
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Standard-rated ﬂ

Manufacturer
Claims back GST

)

Zero-rated ﬂ

Government revenue RM (mil)

.Manufacturer
Claims back GST

Supplier
Claims back GST

Exempted

A broader tax .base
will boost government
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